
Warning!  Installation by person with electrotechnical expertise only.
Warnung! Installation nur durch elektrotechnische Fachkraft.
Avvertenza! Fare installare solo da un elettricista qualificato.
Avertissement! Installation uniquement par des personnes qualifiées en électrotechnique.
¡Advertencia! La instalación deberá ser realizada únicamente por electricistas especializados.
Внимание! Установка должна выполняться только специалистами-электриками.
Uwaga! Instalacja powinna być wykonywana wyłącznie przez elektryków.

—
System pro E power

N

L1

L2

L3

DIN 933 ISO 4017 UNI 5739

DIN 6796

L3

N

L1

L2

P1

3P 4P

P1 P2

NDP1 NDP3

P3

P2

3P 3P+ND 4P

P3

3P 4P

800mm

600mm

a
b

3P 4P

NDP1 NDP3
3P 3P+ND 4P 3P 4P

2x M10x40

ISO

ISO

2x M10x35

ISO ISO

6x M10x50

ISO

1x M10X60
1x M10X50

c 2 x M8X50

a
b

ISO

1x M10X70
1x M10X50

a
b

2x M10x35
3x M10x40

ISO
a
b

2x M10x35
4x M10x40

c 2 x M8X50

a
b

ISO

2x M8X50
1x M10X50

ISO

6x M10x50

ISO

8x M10x50

a
b

ISO

2x M8X50
1x M10X50

ISO

8x M10x50

ISO

3x M10x40

ISO

4x M10x40    

1x 1x

1x

ISO

6x M10x50

1x 1x

ISO

8x M10x50

1x
1x

1x

1x

1x

a

b

c

a

b

c

a

b

c

a

b

c

a

b

b

b b

aa a
1x 1x

1x

1x

1x

1x

Emax E2.2 W 1600/2000A



2 S ys te m Pro e p ow e r

600
800 800

1

3b

3b

3b

P2

P1
P1 P2

P3 P2

P2
L3

L2
L1

N

L1
L2
L3
N

P1

P3

P2

P3

P2
L1
L2
L3
N

L3

L2
L1

N

600 800

2

1 2 3

1STS100485R0001

1STS100481R0001

1STS100482R0001

Mounting kit

Mounting 
segregation 3b

Mounting CEP

3/4 Pole

3/4 Pole 

600

600
800

600
800



S ys te m Pro e p ow e r 3

1

P1 P2

800
1

3 Pole + ND

P3 P2

3 Pole + ND

P2

P1

P2

P1

L3

L2
L1

N

L1
L2
L3
N

P3

P2

P3

P2

L1
L2
L3
N

L3

L2
L1

N

600
800

600
800

2 3

3b

600 800

600

2 3 4 5
CEP

3b

600
800

600
800

600
800

600
800



4 S ys te m Pro e p ow e r

600mm 600mm 

800mm 800mm 

P1

P2

P1

P2

P1

P2

P1

P2

3/4 Pole

3/4 Pole

3 Pole + ND

3 Pole + ND

max
(Nm)

M10 x 12

M8 x 40

M8 x 50

M8 x 12

M10 x 25
45

22

M10 x 30

M10 x 40

M12 x 45

M8 x 25

70

22

1

2

3

4

5

6

7

8

9

10

M12 x 55

M12 x 65

11

M10 x 25 4512

b1

c1

c2

b1
g1

c1

c2

b1

c1

c2

b1

c1

c2

a1 a1

d1

e1 e1

f1 f1

4

4

6
4

4

4

7 7

4

4

4

4

4

2
2

6

6 6

6

6

2

2

2

6

6

6

6

6 6

6

4 4

6

6

88

8 8

2 2

55

5
5

9

9

1

12

12

1

11

11



S ys te m Pro e p ow e r 5

83
9.

5
83

9.
5

87
3

41
4.

5
25

0

56
4.

5

11
39

.5

11
39

.5

151

600mm

800mm 800mm

600mm

P2

P1

P1

P2

83
9.

5

41
4.

5
25

0

56
4.

5

11
39

.5

P1

P2
41

4.
5

25
0

58
9.

5

163

83
9.

5
87

3

11
39

.5

163
151

P2

P1

41
4.

5
25

0

58
9.

5

b1

b1

c1

c2

b1

b1

c1

c1

c2

c2

a1

d1

d1

e1

e1

f1

f1

a1

c1

c1



6 S ys te m Pro e p ow e r

600mm 600mm 

3/4 Pole 3 Pole + ND

P3

P2

P3

P2

800mm 800mm 

3/4 Pole 3 Pole + ND

P3

P2

c1

4
6

2

8

max
(Nm)

M10 x 12

M8 x 40

M8 x 50

M8 x 12

M10 x 25
45

22

M10 x 30

M10 x 40

M12 x 45

M8 x 25

70

22

1

2

3

4

5

6

7

8

9

10

M12 x 55

M12 x 65

11

M10 x 25 2212

P3

a1

a2

c1

4

6

2

8

a1

a2

b1

4

6

6

4

12

11

9

P2

b1

4

4

2

6

6

5

a1

a2
a2

a1

d1 d1

c1 c1

b1
b1

6

6

7
7

6
6

6
6

4
4

4

4
8

8

12

11

5
5

2

4 

4 

2

2

2

4

2

4

2

9



S ys te m Pro e p ow e r 7

98
9.

5

83
9.

5

41
4.

5
25

0

P2

P3

P2

P3

98
9.

5

86
3

86

98
9.

5

83
9.

5

41
4.

5
25

0

P2

P3

83
9.

5

41
4.

5
25

0

98

P2

P3

98
9.

5 86
3

86
98

83
9.

5

41
4.

5
25

0

c1

c1

a1

a2

a1

a2

b1

a1

a1

a2

a2

b1

b1

c1

c1
d1

d1

b1

600mm

800mm 800mm

600mm



Due to possible developments of standards as well as of 
materials, the characteristics and dimensions specified in this 
document may only be considered binding after confirmation 
by ABB SACE.

© Copyright 2023 ABB. All rights reserved.

Torx 15/20/30

5/8/10mm

5/8/10mm

10mm

10/17/19mm

10/17/19mm

min. 150mm

Torx 15

M6

M6

M6

M8

TCEI M10 
TCEI M12 

M10

6

5

9÷10

22÷24

20
20

43÷48

TCEI M6 20

M12 74÷82

max [Nm]

M6 9÷10

—
ABB S.p.A
Electrification Business - Smart Power

ABB SACE Division
58, Via Italia 
I-23846 Garbagnate Monastero (LC)
Phone: +39 031 3570.111
Fax: +39 031 3570.228
www.abb.com

1S
TS

10
0

47
4

R
0

0
0

1 
- 

0
5/

23
 -

 R
E

V.
 C


